TR S (3R] M Ha)
o|=- =R B
4527 3.074 7.757 5.745 1.715
6 6 X 4 X 7 x 5
0.685 6.699 4119 8.316 4.012
4 7 X 5 X 8 X 8
8.221 1.961 3.725 6.355 4.649
3 5 X 5 X 8 X 7
0.887 2.379 3.818 0.551 3.911
7/ 3 X 2 X 8 X 7
8.623 4,135 0.645 1.002 0.718
7 6 X 8 X 9 X 8
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A S (3R] 2 "H)

0| & =R M
4,527 3.074 7.757 5.745 1.715
X 6 X 6 X 4 X 7 X 5
27.162 18.444 31.028 40.215 8.575
0.685 6.699 4119 8.316 4,012
X 4 X 7 X 5 X 8 X 8
2.74 46.893 20.595 66.528 32.096
8.221 1.961 3.725 6.355 4.649
X 3 X 5 X 5 X 8 X 7
24.663 9.805 18.625 50.84 32.543
0.887 2.379 3.818 0.551 3.911
X 7 X 3 X 2 X 8 X 7
6.209 7137 7.636 4.408 27.377
8.623 4,135 0.645 1.002 0.718
X 7 X 6 X 8 X 9 X 8
60.361 24.81 5.16 9.018 5.744
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